Calculus AB AP Review Packet

1. Expand: (x+3)° 2. Expand: (x2 —3)3
3. Simplify 22 if possible 4. simplify 2*2.if possible
3x+y 3y
3
5. Simplify §—(3‘—+—};1—)—_—5—5 6. Convert —g’bﬁ +b to a single fraction
a__a a_,
7. Simplify -Z—xi—’;-—zi 8. Simplify —2—
a
+ p—
“ (b)
1, 4 i
PR 1) (3x—-1)-2(x-1)-3
9. Show that — 4 = XX 10. Simplify (x=1) (3x-1) _ (x-1)
3x2 —7x 3_(1J (x-1)
X
11
e (=DRx+1)—(x+3) o (x+hR) X
11. Simpl 12. Simplify ————
P S 2w 1) Py T
Solve for x in problems 13-18
13. x> —4x+4=0 14, 3x* -7x+1=0 15. 2x*+3x-3=0
16. 2x* +3x+3=0 17. x*=3x+4=0 18. ———?’i‘—?——co
(x—l)(x +7)
d 5 ,
19. Solve for t:;—J—r—=—t- 20. Solve for y,;: xy, +xy,y° —3=5y,+xy
I8
21. Solve for é:z—4—sé—3é=r2-é-é+9
! t ot 1ot
xzwl
22. Solve for y' :xy' —y'y* = 3 +2+3x+2x"
2
23. Solve for y, :ic——;‘i‘—-—ihl—yl =xyy, +x’y, +1
x.._



Solve for x in exercises 24-31.

24. 2x* +3x° —2x* =0 25. @x+1)(x —1) +(x+5)2x +1)" =0
26. (x+1)2x+1)’ =3Qx+1)(x +1)=0 27. x* +2x* —x=2=0

28. x* +3x* =x*-3x=0 29. 542x* +9x =7x*+9x°

30, X ! 31, x* +7x* —8x =0

x+1 x+3 “Sx-1
In exercises 32-34, complete the square.

3 3
32. 3x* +x 33, 2x%—16x+18 34, _§x2+1_6x+T5

In 35 and 36, rewrite the equation in the form (x — k) +(y —k) =7

35. 16x> +16y* —64y +8x+16=0 36. 6x2 —6x+6y*+10y+5=0
1
37. Compute log, 64 38. Compute 10g5(—2§J

@x? -3)x* + 1)2

NTx+1

39. Express log, as a sum of logarithms.

40. Write as a logarithm of a single expression:
1 2
—2—logb (3x +1)——3;logb(l ——9x2)+log,, (1-x)

41. Write as a logarithm of a single expression:
3 > 5 2 1
Elogb(2+x) ——Elogb (x2 —4)—-—3-logb 27x +§10gb 8x*
Find the domain of the function in 42-45.

1
x*+1

0. f)=— 5. £()=

X

44, f(x)=m 45, f(x)=—ﬁ-i—332—-—:—x7

46. Find f(x) for the function f whose graph is a straight line with slope -2 passing through the
point (1, -5).

47. Find the function whose graph is the straight line that passes through the point (-1, -2) and
intersects the x-axis at 3.



48. Sketch the graph of the function f(x)= -;—\/ 36-9x°

49, Find the maximum value of the function f(x)=4 -x

50. Find the minimum value of the function f(x)=3x —x on the closed interval (-1, 1).
51. Does the function f(x)=x+1 attain a maximum value on the open interval (1, 3)?
52. Find the domain and range of f(x)=sinx

53. Find the domain and range of g(x)=tanx

-2x, x<-2
54, Sketch the graph of the function f(x)=qx*-x-2, -2<x<2
-—lx, x22
2
In 55-68, compute the following:
n b3 n n
55. - 56. — 57. tan— 58. in(——)
cos cse7 c sin{ =3
3
59. cos(—fJ 60. cos[—’—’ +f’-) 61. sin>2 62. cos(—lJ
6 2 3 6 4
n Al Al
63. SR 64. ( —-j 65. si 2(—-—) 66. tan’0
cos” cos7 sin’| ~
. V3
67. arcsin—~ 68. arccos(—1)

69. Find the values of & for which cos(66)=0

In 70-74, evaluate the expression at the specified value of x.

70. (3x +3)"§‘, x=2 71. (4x° —-9)“%, x=3 72. (3% —2x —8)—%, x=4

1 1
2:X=2 74 2’X=8

73. > . 5
(> +4)° (3\/32 +6)’



75. Express V13 in terms of /2. 76. Show that —\[—? =+/6

77. Show that —%8— =4 78. Express —\/-Z——z— in simplest radical form.
79. Show that 1908 = % 80. Express /9x2 +36 in the form kvx®+d*

3
81. Show that 27x> -8 =3 %/xs _@)

2
82. Express 1’%+4 in the form kVx*+a’

3
3

83. Show that ,l+ 4 _\Oxi+d
9x3 3x3

x 17 x 1
84. Show that 1+(——-———) =—d4—
ow tha 2 2x) 2 2x

85. Express V23x? —35 in the form of kvx*+a’

2
86. Show that £+—1— —-1=ﬁ !
2 2x

2 24/x

For 87 and 88, write the expression in terms of sin@ and cos 6.

—tan® 1+tan* &
87. M 8. tan@——i———
sec@ —cot @ csc@+cotd

In 89-92, find the equation of the given line.
89. The straight line with the slope -2 passing through the point (-3, -5).

90. The straight line passing through (1, -3) that intersects the x-axis at the point whose
coordinate is 5.

91. The straight line passing through the point (-1, -2) that is parallel to the line
x+y=2x—-y+3

92. The straight line perpendicular to x +y =2x + 3 that intersects the y-axis at the point whose
coordinate is 2.



93. Find the equations of the indicated lines.

mmar, het o

94, Find the equation of the circle shown.




